X:(3000) 2 HIJH 2] :(3200) Xl = 2 HIJH b 8t:(3210) Kl < 2 HIOH 2 MIBH: (3213) 2 & A =61 X 2 Ab MAIE: (220) RERIALY [ZHIEXS INEERE
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ni = &b OH of &b oH & =
SAAFHI ST A 632,986 598,400 34,586
3000
AN N 628,487 598,400 30,087
3200
XIS A HIOH 2] 628,487 598,400 30,087
3210
IR D liE=]s 628, 487 598,400 30,087
3213
SHAZHKR ALY 628,487 598,400 30,087
200
AFS Ol A 624,340 595,400 28,940
220
KHRI AL 624,340 595,400 28,940
401
A& H L2 258,740 242,800 15,940
255,946 240,177 15,769|01 Al&H|
O NG A= B2 AH(EU5HA)
(3H) 0 - (J1%) 39,568,000 = 39,568
O At SIS 2422 HEZAH(HSE)
(3H) 0 - (J1%) 39,568,000 = 39,568
O XY S2ZF LU 22 AXI2AHO$5H)
33,000,000 X 98.92/100 = 32,644
O &Y SUiIS s2 ZHZAH$5)
40,000,0002 X 98.92/100 = 39,568
O Mo S=012 o AGHA HUIZAHSHS)
7,000,0002 X 98.92/100 = 6,925




Z:(3000) 2 HIoH Bl 2t:(3200) X1 =2 MOH & HI 811 (3210) K A2 HIOH e NIEH:(3213) L AFHEXRAMY  MAE:(220)HHAIY  [ZHEXRSIIEE2] (9
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Pl eS| - _
ni: = ml&ﬁoﬂ,\}o”%A% A = | ES
O 8= X3 2 - i142 ANZAHMIOIOF 2&28)
15,940,000 X 98.92/100 = 15,768
2,79 2,623 171103 Al&2HYI
O NG A= B2 AH(EUL5A)
(3H) 0 - (J1%) 432,000 = A432
O a2t GUH0IE 222 HEAZAHH252)
(3H) 0 - (J1%) 432,000 = A432
O XY S2ZF L b2 X 2AHO$5H)
33,000,000 X 1.08/100 = 356
O A2 SIS =2 TEHZAHH25)
40,000,000 X 1.08/100 = 432
O Mo S=012 o AGHA HUIZAHSHSH)
7,000,0002 X 1.08/100 = 75
O 8= X3 2 -2 AMAZAHBIOIOF 8&28)
15,940,000 X 1.08/100 = 172
402
DI2EXE0| A 365,600 352,600 13,000
365,600 352,600 13,000|01 QIZtXIE2E =X
O B TS0SI AEBAHSY, 2USHA)
(2%) 210,600,000 - (JIH) 197,600,000 = 13,000
400
olHig S 4,147 3,000 1,147
410
ollg1d| 4,147 3,000 1,147
802
BHEH 2| E} 4,147 3,000 1,147




[BHSENHRASLD] (2@

Z}:(3000) 2 X OH 2t 2t (3200) I 2 2 RIH L HI B (RINABRNLY IS (31 LTAFHIAL KIS (410) 0l =
Il = . -
at = Ol & % Ty a4 o 5 A B &k ES ) =
4,147 3,000 1,147103 23S
O OlXt=g Btet=
(BF) 4,147,0008 - (918) 3,000,000& = 1,147




Z:(5000) K& 2 OIEFZHl  2t:(5400) 0l HI Bl &h:(5410) 0l HI Bl NI&t:(5411) 0Bl BI NIAIE:(410)0lHIHI [ZHEXSIEEa] (&
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p) 3 _ _
2t = Of &b o4 Gl AF oM s A & &t = ) e
5000
A& IEFZH 4,499 0 4,499
5400
Gl]=1]=] 4,499 0 4,499
5410
G 1]=1]=] 4,499 0 4,499
5411
ollglbl 4,499 0 4,499
400
olgldl S 4,499 0 4,499
410
Gl]=1]=] 4,499 0 4,499
801
G 1]=1]=] 4,499 0 4,499
4,499 0 4,499 00 oldldl
O oiidlbl = 4,499




